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1 
What will be the increasing bond angles order of CH4, NH3, H2O and H2S ? 

CH4, NH3, H2O এবং H2S এরবন্ধন ক োণের উর্ধক্রম অনুসোণর সোজোন । 

2 Which of the following is not correct for dipole moment? 

ক োনটি দ্বিণমরু ভ্রোম  এর জনয সঠি  নয়? 

3 

Observed dipole moment of Chlorobenzene is 1.49 D, C-Cl bond length is = 280 pm. Then 

what will be the % ionic character of C-C bond? 

যদ্বি কলোণরোণবদ্বিণনর দ্বিণমরু ভ্রোম  ১.৪৯ D এবং C-Cl বন্ধন দির্ঘধয ২৮০ pm হয়, তণব C-C 

বন্ধনীর শত রো আয়নীয় মোত্রো  ত? 

4 p+   + p─     → X   +Y ; In this nuclear reaction what are X & Y ?  

p+   + p─     → X   +Y ;  এই  দ্বনউদ্বলওদ্ববদ্বক্রয়োয় X ও Y  দ্ব  দ্ব ? 

5 
Which is  microwave active molecule ? 

মোইণক্রো ওণয়ব সদ্বক্রয় অেু ক োনটি? 

6 Which group has highest frequency? 

ক োন গ্রুপটি সবণেণয় কবদ্বশ  ম্পোঙ্ক কিখোয়? 

7 Beer Lambert’s law gives the relation between which of the following? 

Lambert’s Beer সূত্র দ্বনণের ক োনটির সণে যুক্ত ? 

8 
In the hydrogen molecule, when hydrogen is replaced by deuterium. What will  be the change 

to the rotational constant B? 

H2 অেুর H-পরমোেুণ  ডয়ণেদ্বরয়োম িোরো প্রদ্বতস্থোদ্বপত  রণে র্ঘূেধন ধ্রুবণ র (B) মোন দ্ব  হণব? 

9 Among these which has  zero dipole moment ? 

অধ্রুবীয় অেু ক োনটি? 

10 
What is called: transition of a photon from triplet to singlet state with emission of energy ? 

ক োেন  েোর দ্বত্র-ণরখ অবস্থযো (T)কেণ  এ -ণরখ অবস্থযোয় (S)অবতরেণ  দ্ব  বণে?  

11 
For which only π →π* electronic transition occurs ? 



ক োনটির কেণত্র π →π* ইণেক্ট্রদ্বন  স্থোনোন্তর র্ঘণে?  

12 Among these which is unstable? 

দ্বনন্মদ্বেদ্বখতগুদ্বের মণর্য ক োনটি অস্থযোয়ী ? 

13 
Among the following molecules which one shows pure rotation spectra? 

দ্বনন্মদ্বেদ্বখতগুদ্বের মণর্য ক োনটি র্ঘূেধন বেধোদ্বে কিখোয়? 

14 75
33As   + 21H  = 56

25Mn +    91
1H +  12 10n; What is the type of this reaction?: 

75
33As   + 21H  = 56

25Mn +    91
1H +  12 10n; এটি দ্ব  র্রণনর দ্বনউদ্বলয়োর দ্ববদ্বক্রয়ো:? 

15 238
92U  →   234

90Th  +  42He  +  Energy  [ Given Mass of 238
92U = 238.05790u; Mass of 234

90Th 

= 234.04363u; Mass of 42He = 4.00260u], then what will the amount of energy ? 

238
92U  →   234

90Th  +  42He  +  শদ্বক্ত [কিওয়ো আণে 238
92U এর ভর= 238.05790u; 234

90Th এর ভর= 234.04363u; 4
2He এর ভর= 4.00260u],  

  
দ্ববদ্বক্রয়োয় উৎপন্ন তোণপর পোদ্বরমোন  ত? 

  
 


